
Lecture 16 - Wednesday, March 8



Announcements

• ProgTest1 results to be released by Friday, March 17
• Makeup Lecture for WrittenTest1, ProgTest1

+ Expected to complete by: March 20



Implementing the Queue ADT using a SLL
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Queue ADT: Testing Alternative Implementations
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Exercise: Implementing a Queue using Two Stacks

Queue Operation:
q.enqueue(“alan”);
q.enqueue(“mark”);
q.enqueue(“tom”);
String front = q.dequeue();
front = q.dequeue();
front = q.dequeue();
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Queue Operation:
q.enqueue(“alan”);
q.enqueue(“mark”);
q.enqueue(“tom”);
String front = q.dequeue();
front = q.dequeue();
front = q.dequeue();
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Lecture

General Trees ADT

Terminology, Applications



Trees

art 1. General Trees2. Binary Trees (BTsL
b. [3. Binary Search Trees (BSTs)

4. Balanced BSTs
I i 5. ADT:Priority Rueues

6. Heap fort



Linear vs. Non-Linear Structures
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- root
- parent
- children
- ancestors
- descendants
- siblings

General Trees: Terminology (1)
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- ancestor
-

node has
& path Every
-

a unique parent.

- A node is

I both its ancestor

- and descendant.

Ancestors ofShirley:Shirleys Elsa, Chris, David.
Descendants ofthe root

Descendants of Ernesto:Ernesto
cover the entire tree.

Descendants of Chris:2,Elsa, Anna, Ss Us 4.



- subtree

General Trees: Terminology (2)
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- external nodes
- internal nodes

General Trees: Terminology (3)
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